
Gasoline Vehicle ELECTRICAL SYSTEM 

Service Parts Manwal Page H-2 



Gasoline Vehicle ELECTRICAL SYSTEM 

When ordering parts, please specify the model and serial number of the product. 
* Indicates a component that is not available as an individual part. 
G** Indicates consult Customer Service Department for additional information. 

ITEM PART NO. 1 2 3 4 5 DESCRIPTION QTY. 

31 00438-G6 BOLT, 5/16 - 18 X 3/4" LG  2 

32 11027-G1 LOCK NUT, 5/16 - 18  2 

33 26676-G01 SCREW, M6 X 1 X 23 MM LG  1 

34 

35 25972-G85 6 GA WIRE (BLACK 23", F2 - SOL)  1 

36 

37 70899-G01 WIRE HARNESS (CONTROL) - SINGLE CABLE DIRECTION SELECTOR   1 

38 70595-G01 WIRE HARNESS (CONTROL) - DUAL CABLE DIRECTION SELECTOR  1 

39 

40 17618-G1 WIRE TIE  AR 

41 

42 73049-G01 COVER  1 

43 16469-G1 WASHER, 1/4"  1 

44 00114-G6 SCREW, 1/4 - 14 X 3/4" LG  1 

45 

46 

47 73059-G01 ELECTRICAL PLATE ASSEMBLY (INCLUDES ITEMS 48 - 73)  1 

48 73057-G01 BRACKET  1 

49 27739-G01 VOLTAGE REGULATOR  1 

50 00415-G2 BOLT, 1/4 - 20 X 1 1/4" LG  1 

51 11027-G2 LOCK NUT, 1/4 - 20  1 

52 

53 27746-G01 IGNITOR  1 

54 00414-G8 BOLT, 1/4 - 20 X 1" LG  1 

55 00414-G5 BOLT, 1/4 - 20 X 5/8" LG  1 

56 

57 27153-G01 SOLENOID  1 

58 00414-G5 BOLT, 1/4 - 20 X 5/8" LG  1 

59 11027-G2 LOCK NUT, 1/4 - 20  3 

60 

Service Parts Manual Page H-8 


